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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series AABB2/4  àíZ-nÌ H$moS>        
 Q.P. Code   
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Roll No. 
 

 
 
 
 

 

 
 

 
 
 
 
 
 
 
 
 
 
 
 

 

AW©emñÌ  
ECONOMICS 

: 2 : 40 
Time allowed : 2 hours Maximum Marks : 40 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 11 h¢ & 
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> 
na {bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 

{bI| & 
 Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 11 printed pages. 
 Q.P. Code given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 
 Please check that this question paper contains 13 questions. 
 Please write down the serial number of the question in the  

answer-book before attempting it. 
 15 minute time has been allotted to read this question paper. The question 

paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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: 

: 

(i) 13 

(ii) 

(iii) 2 5 3 5 5 3 

(iv) 2 30  50 

(v) 3 50  80 

(vi) 5 80  120 

(vii) 

(viii) /

1. (H$) `{X dV©_mZ _yë`m| na gH$b Kaoby CËnmX < 6,600 GDP 

Adñ\$s{VH$ (deflator) 110 h¡, Vmo dmñV{dH$ gH$b Kaoby CËnmX H$s JUZm 

H$s{OE & 2 

 AWdm 

 (I) _mÝ` H$maUm| Ûmam, {ZåZ{b{IV H$mo ñQ>m°H$ d àdmh Mam| _| dJuH¥$V H$s{OE : 2 

(i) 31 _mM©, 2021 na AZ{~Ho$ _mb (Inventories) H$m _yë` 

(ii) df© 2020  21 Ho$ Xm¡amZ ewÕ {Zdoe 

2. (H$) `{X {H$gr AW©ì`dñWm _| {Z`mo{OV ~MV, {Z`mo{OV {Zdoe go A{YH$ h¡, Vmo BgH$m 

CËnmXZ d amoµO §  H$s{OE &  2 

AWdm 

 (I) `{X {H$gr AW©ì`dñWm _| {Z`mo{OV ~MV, {Z`mo{OV {Zdoe go H$_ h¡, Vmo BgH$m 

CËnmXZ d amoµO §  H$s{OE &     2 

3. ^maV _| Am{W©H$ {dH$mg n`m©daUr` g_ñ`mAm| H$s CËn{Îm Ho$ gmW hþAm h¡ &  
 ? AnZo CÎma H$m _mÝ` VH$m] Ûmam g_W©Z H$s{OE &  2 
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General Instructions :   
Read the following instructions very carefully and strictly follow them : 
(i) This question paper contains 13 questions. 
(ii) All questions are compulsory. Marks are indicated against each question. 
(iii) This question paper contains 5 questions of 2 marks each, 5 questions of  

3 marks each and 3 questions of 5 marks each.  
(iv) 2 marks questions are Short Answer Type Questions and are to be 

answered in 30  50 words each.  
(v) 3 marks questions are also Short Answer Type Questions and are to be 

answered in 50  80 words each.  
(vi) 5 marks questions are Long Answer Type Questions and are to be 

answered in 80  120 words each.  
(vii) There is no overall choice in the question paper. However, internal choices 

have been provided in few questions. The candidates need to attempt only 
one question from such questions.  

(viii) This question paper contains Case/Source Based Question also. 

1. (a) If the Gross Domestic Product at current prices is < 6,600 crore 

and GDP deflator is 110, calculate the Real Gross Domestic 
Product. 2 

                                                                    OR 

 (b) Giving valid reasons, classify the following into stock and flow 
variables :   2 

(i) Value of Inventories as on 31st March, 2021 

(ii) Net Investments during the year 2020  21 

2. (a) If planned savings exceed planned investments in an economy, 
state its likely impact on output and employment. 2 

 OR  

 (b) If planned savings fall short of planned investments in an 
economy, state its likely impact on output and employment. 2 

3. 
 

 Do you agree with the given statement ? Give valid reasons in support of 
your answer.  2 
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4. (H$) `h {X`m J`m h¡ {H$ EH$ H$mën{ZH$ AW©ì`dñWm H$m Cn^moJ \$bZ, 
C = 100 + 0·8 Y  h¡, Ohm± C = Cn^moJ VWm Y = Am` & 

  JUZm H$s{OE :  2 

(i) gr_m§V ~MV àd¥{Îm (MPS) H$m _yë`   

(ii) bm^-Abm^ {~ÝXþ (Break-Even Point) na Am` H$m ñVa   

 AWdm 

 (I) S =  60 + 0·1 Y, ~MV \$bZ h¡, Ohm± S = ~MV d Y = amîQ>́r` Am` VWm 

AW©ì`dñWm _| {Zdoe ì`` (I) = < 4,000  

  Am` Ho$ g§VwbZ ñVa (Equilibrium level) H$s JUZm H$s{OE &   2 

5. {ZåZ{b{IV H$m AW© ~VmBE :  2 

(i) d¡pídH$ é½UVm ^ma 

(ii) _¥Ë ẁ Xa 

6. 1970 Ho$ XeH$ Ho$ A§V _|, ^maV H$s Anojm MrZ H$s OZg§»`m _| VoOr go {JamdQ> Am`r 

Wr &   

 Bg n[apñW{V Ho$ H$maU d à^md H$mo ñnîQ> H$s{OE &   3 

7. MrZ Ûmam AnZmB© JB©$ Xmohao _yë`-{ZYm©aU  H$s AdYmaUm H$s ì`m»`m H$s{OE & 3 

8. (H$) Am` Ho$ MH«$s` (dVw©b) àdmh Ho$ {d{^Þ MaUm| H$s g§jon _| ì`m»`m H$s{OE & 3 

        AWdm 

 (I) `{X {H$gr AW©ì`dñWm _|, dmñV{dH$ gH$b Kaoby CËnmX (Real GDP)  

< 300  gyMH$m§H$ (AmYma = 100) 110 h¡, Vmo _m¡{ÐH$ gH$b Kaoby 

CËnmX (Nominal GDP) H$s JUZm H$s{OE &    3 

9. `h _mZVo hþE {H$, {Zdoe _| n[adV©Z ( I) = < 4,000 

(MPC) = 0·5 h¡, {Zdoe JwUH$ (K) H$s H$m ©̀ à{H«$`m H$s g§jon _| {ddoMZm H$s{OE & 3 

10. Am¡nMm[aH$ joÌ Ho$ 30 {_{b`Z l{_H$m| _| go _mÌ 21% (bJ^J) {Z`{_V doVZ^moJr 

amoµOJma _| _{hbmE± {Z ẁº$ h¢ &  ì`m»`m H$s{OE &  3 
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4. (a) You are given the consumption function of an imaginary economy, 

C = 100 + 0·8 Y, where C = Consumption and Y = Income.  

Calculate :  2 

(i) The value of Marginal Propensity to Save (MPS) 

(ii) The level of income at Break-Even Point  

                                                            OR 

 (b) S =  60 + 0·1 Y  is the saving function, where S is Saving and  
Y is National Income and Investment Expenditure (I) is  
< 4,000 crore in an economy.  

  Calculate the Equilibrium level of Income.  2 

5. State the meaning of the following : 2 

(i) Global burden of disease 

(ii) Mortality Rate 

6. In 
   

 Elucidate the reason and impact of this situation.  3 

7.    3 

8. (a) Briefly explain the different phases of circular flow of income.   3 

                                                           OR 

 (b) In an economy, if the Real Gross Domestic Product (GDP) is  

< 300 crore and Price Index (with base = 100) is 110, calculate the 

Nominal Gross Domestic Product.      3 

9. Discuss briefly the working process of investment multiplier (K), 

assuming that Change in Investment ( I) is < 4,000 crore and Marginal 

Propensity to Consume (MPC) is 0·5.  3 

10. lion formal sector workers, only about 21% are women 
 3 
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11. (H$) 
g_mZ hmoVr h¡ :   5 

H«$_ 
g§»`m 

_X|  am{e  
(< )  

(i) ewÕ {Z`m©V ( ) 60 

(ii) ewÕ AàË`j H$a 150 

(iii) àMmbZ A{Yeof 740 

(iv) H$_©Mm[a`m| H$m nm[al{_H$  1,400 

(v) {dXoem| go àmßV ewÕ gmYZ Am` 40 

(vi) ñd-{Z`mo{OVm| H$s {_{lV Am` 1,000 

(vii) ewÕ Kaoby ñWm`r ny±Or {Z_m©U 500 

(viii) ñQ>m°H$ _| n[adV©Z ( ) 100 

(ix) _yë`õmg 100 

(x) {ZOr A§{V_ Cn^moJ ì`` 2,000 

(xi) gaH$mar A§{V_ Cn^moJ ì`` 1,000 

 AWdm 

(I) (i) :    2 

H«$_ 
g§»`m 

_X|   am{e  
(< ) 

(i) H$_©Mm[a`m| H$m nm[al{_H$ 300 

(ii) AàË`j H$a 200 

(iii) ñWm`r ny±Or H$m Cn^moJ 100 

(iv) CnXmZ 50 

(v) gmYZ bmJV na gH$b Kaoby CËnmX (GDPfc) 650 

(ii) {dXoem| go àmßV ewÕ gmYZ Am` Ho$ VrZ _w»` KQ>H$m| H$m g§jon _| CëboI 
d MMm© H$s{OE &  3 

12. A{Y_m±J H$s AdYmaUm H$s ì`m»`m H$s{OE & A{Y_m±J H$s pñW{V H$mo ghr H$aZo _| gaH$mar 

ì`` Zr{V {H$g àH$ma ghm`H$ hmo gH$Vr h¡ ? 5 
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11. (a) From the following data, show that the National Income will be 
same from both Income Method and Expenditure Method : 5 

S. No. Items 
Amount  

(in < crore) 

(i) Net Exports ( ) 60 

(ii) Net Indirect Taxes 150 

(iii) Operating Surplus 740 

(iv) Compensation of Employees 1,400 

(v) Net Factor Income from Abroad  40 

(vi) Mixed Income of Self-Employed 1,000 

(vii) Net Domestic Fixed Capital Formation 500 

(viii) Change in Stock ( ) 100 

(ix) Depreciation  100 

(x) Private Final Consumption Expenditure 2,000 

(xi) 
 

Government Final Consumption 
Expenditure 

1,000 

 OR 

(b) (i) Calculate the operating surplus from the following data :   2 

S. 
No. Items  

Amount  
(in < crore) 

(i) Compensation of Employees 300 

(ii) Indirect Taxes  200 

(iii) Consumption of Fixed Capital  100 

(iv) Subsidies  50 

(v) 
 

Gross Domestic Product at Factor Cost 
(GDPfc)  

650 

(ii) State and discuss briefly the three main components of Net 
Factor Income from Abroad.  3 

12. Explain the concept of excess demand. How can government spending 
policy be helpful in correcting the situation of excess demand ?    5 
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Ho$g/òmoV AmYm[aV àíZ 

13  13 : 

 O_©Zr Ho$ gh`moJ go {dH${gV Zr{V Am`moJ gyMH$m§H$, 77 gVV {dH$mg bú` g§Ho$VH$m| 

(SDG indicators) na 56 ehar joÌm| H$mo a¢H$ H$aVm h¡ & gVV {dH$mg bú`m| (SDGs) Ho$ 

ñWmZr`H$aU H$s `mÌm _| VWm g^r ñVam| na SDGs H$s àJ{V {ZJamZr àUmbr ñWm{nV H$aZo 

Ho$ {bE Zr{V Am`moJ Zo 2021  22 _| SDG ehar gyMH$m§H$ d S>¡e~moS>© {dH${gV {H$`m h¡ &  

 `h gyMH$m§H$ {d{^Þ eham| Ho$ ñVa na SDG   

H$aoJm & Zr{V Am`moJ Ho$ AZwgma, `h m| H$s {ZJamZr VWm [anmo{Q>ªJ àUm{b`m| 

H$s Iy{~`m| d H${_`m| na àH$me S>mbVm h¡ & Bg gyMH$m§H$ _| à ẁº$ CnH$aU EH$ Eogo 

nm[apñW{VH$ V§Ì H$m {Z_m

boZo d bmJy H$aZo _| ghm`Vm {_boJr &  

 Zr{V Am`moJ H$m _mZZm h¡ {H$ ^maV _| {dH$mg Ho$ ^{dî` H$s ê$naoIm V¡̀ ma H$aZo _| h_mao 

eham| d ehar ©Z H$m\$s Amdí`H$ h¡ & Bg 

gyMH$m§H$ _| gpå_{bV 56 ehar joÌm| _| go 44 eha EH$ {_{b`Z go A{YH$ Am~mXr dmbo 

eha h¢ & 

 Zr{V Am`moJ Ho$ AZwgma àË òH$ SDG Ho$ {bE ehar joÌm| H$mo 0  100 Ho$ n¡_mZo na _mnm 

J`m h¡ & gm¡ Ho$ ñVa H$m AW© h¡ {H$ M`{ZV joÌm| Zo 2030 Ho$ {ZYm©[aV bú`m| H$s àm{ßV H$a 

br h¡ & eyÝ` Ho$ ñH$moa H$m AW© h¡ {H$ M`{ZV ehar joÌ gdm}Îm_ ñVa àmßV H$aZo go g~go 

Xÿa h¡ & 0  49 Ho$ ñH$moa àmßV H$aZo dmbo eham| H$mo AmH$m§jr ñVa Ho$ ê$n _| aIm J`m h¡,  

50  64 dmbo eham| H$mo na\$mo_©a H$hm J`m h¡, 66  99 eham| H$mo \«§$Q>-aZa d 100 ñH$moa 

dmbo eham| H$mo AMrdg© H$hm J`m h¡ &   

 The Economic Times; November 23, 2021 (Modified)  
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Case/Source Based Question 

Read the following text carefully. Answer questions number 13 (a) and 13 (b) on 

the basis of the given text and common understanding : 

 The NITI Aayog Index developed in collaboration with German 
cooperation, ranks 56 urban areas on 77 Sustainable Developmental 
Goals (SDGs) indicators. In its journey of localization of the Sustainable 

system at all levels, the NITI Aayog has developed the SDG Urban Index 
and Dashboard in 2021  22. 

 The index will strengthen SDG localization and institute monitoring at 
the various cities level. According to the NITI Aayog, this index 
highlights the strengths and gaps of data monitoring and reporting 
systems. The tools used in the index will contribute to the creation of an 
ecological system in which all stakeholders will be equipped to adopt and 
implement data-driven decision-making.  

 The NITI Aayog is of the view that this transformative change is quite 
essential, given the increasing prominence of our cities and urban areas 
in charting the future of development in India. Out of 56 urban areas 
ranked in the index, 44 are with population above one million.      

 As per the NITI Aayog, for each SDG the urban areas are ranked on the 

scale of 0  100. A score of 100 implies that the urban area has achieved 

the targets set for 2030. A zero score implies that it is the farthest from 

achieving the target among the selected urban areas. The areas with 

score between 0 and 49 have been ranked as aspirants, those with  

50  64 are termed as performers, 66  99 are called front-runners and 

ones with perfect score are called achievers.  

 Source : The Economic Times; November 23, 2021 (Modified)  
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13. (H$) gVV {dH$mg àmßV H$aZo _| Zr{V Am`moJ gyMH$m§H$ Ûmam em{_b {H$Ýht Xmo MaUm| H$s 

ì`m»`m H$s{OE &    2 

 (I) ehar joÌm| H$mo 0  100 Ho$ n¡_mZo na _mnm OmEJm &   

  Zr{V Am`moJ Ûmam AnZmB© JB© a¢qH$J àUmbr H$s ì`m»`m H$s{OE &    3 
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13. (a) Outline any two steps involved by the NITI Aayog index in 

attaining sustainable development. 2 

 (b)     100  

  Elucidate the ranking system adopted by the NITI Aayog. 3 
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Strictly Confidential: (For Internal and Restricted use only) 

Senior Secondary School Term II Examination, 2022 

Marking Scheme – ECONOMICS   (SUBJECT CODE – 030) 

(PAPER CODE – 58/4/3 ) 

General Instructions: - 
 

1. You are aware that evaluation is the most important process in the actual and correct 
assessment of the candidates. A small mistake in evaluation may lead to serious 
problems which may affect the future of the candidates, education system and teaching 
profession. To avoid mistakes, it is requested that before starting evaluation, you must 
read and understand the spot evaluation guidelines carefully. 

2. “Evaluation policy is a confidential policy as it is related to the confidentiality of 
the examinations conducted, Evaluation done and several other aspects. Its’ 
leakage to public in any manner could lead to derailment of the examination 
system and affect the life and future of millions of candidates. Sharing this 
policy/document to anyone, publishing in any magazine and printing in News 
Paper/Website etc may invite action under IPC.” 

3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should 
not be done according to one’s own interpretation or any other consideration. Marking 
Scheme should be strictly adhered to and religiously followed. However, while 
evaluating, answers which are based on latest information or knowledge and/or 
are innovative, they may be assessed for their correctness otherwise and marks 
be awarded to them. In class-XII, while evaluating two competency based 
questions, please try to understand given answer and even if reply is not from 
marking scheme but correct competency is enumerated by the candidate, marks 
should be awarded.   

4. The Head-Examiner must go through the first five answer books evaluated by each 
evaluator on the first day, to ensure that evaluation has been carried out as per the 
instructions given in the Marking Scheme. The remaining answer books meant for 
evaluation shall be given only after ensuring that there is no significant variation in the 
marking of individual evaluators. 

5. Evaluators will mark( √ ) wherever answer is correct.  For wrong answer ‘X’ be marked.  
Evaluators will not put right kind of mark while evaluating which gives an impression 
that answer is correct and no marks are awarded.  This is most common mistake 
which evaluators are committing. 

6. If a question has parts, please award marks on the right-hand side for each part. Marks 
awarded for different parts of the question should then be totaled up and written in the 
left-hand margin and encircled.  This may be followed strictly. 

7. If a question does not have any parts, marks must be awarded in the left-hand margin 
and encircled. This may also be followed strictly. 

8. If a student has attempted an extra question, answer of the question deserving more 
marks should be retained and the other answer scored out. 

9. No marks to be deducted for the cumulative effect of an error. It should be penalized 
only once. 
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10. A full scale of marks __40__(example 0-40 marks as given in Question Paper) has to 
be used. Please do not hesitate to award full marks if the answer deserves it. 

11. Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours 
every day and evaluate 30 answer books per day in main subjects and 35 answer 
books per day in other subjects (Details are given in Spot Guidelines).This is in view 
of the reduced syllabus and number of questions in question paper. 

12. Ensure that you do not make the following common types of errors committed by the 
Examiner in the past:- 

 Leaving answer or part thereof unassessed in an answer book. 

 Giving more marks for an answer than assigned to it. 

 Wrong totaling of marks awarded on a reply. 

 Wrong transfer of marks from the inside pages of the answer book to the title page. 

 Wrong question wise totaling on the title page. 

 Wrong totaling of marks of the two columns on the title page. 

 Wrong grand total. 

 Marks in words and figures not tallying. 

 Wrong transfer of marks from the answer book to online award list. 

 Answers marked as correct, but marks not awarded. (Ensure that the right tick 
mark is correctly and clearly indicated. It should merely be a line. Same is with the 
X for incorrect answer.) 

 Half or a part of answer marked correct and the rest as wrong, but no marks 
awarded.  

 
13. While evaluating the answer books if the answer is found to be totally incorrect, it 

should be marked as cross (X) and awarded zero (0)Marks. 
  

14. Any unassessed portion, non-carrying over of marks to the title page, or totaling error 
detected by the candidate shall damage the prestige of all the personnel engaged in 
the evaluation work as also of the Board. Hence, in order to uphold the prestige of all 
concerned, it is again reiterated that the instructions be followed meticulously and 
judiciously. 
 

15. The Examiners should acquaint themselves with the guidelines given in the Guidelines 
for spot Evaluation before starting the actual evaluation. 
 

16. Every Examiner shall also ensure that all the answers are evaluated, marks carried 
over to the title page, correctly totaled and written in figures and words. 
 

17. The Board permits candidates to obtain photocopy of the Answer Book on request in 
an RTI application and also separately as a part of the re-evaluation process on 
payment of the processing charges.   
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MARKING SCHEME 

Senior Secondary School Examination TERM–II, 2022 

ECONOMICS   (Subject Code–030) 

[ Paper Code : 58/4/3 ] 

Maximum Marks : 40 

 

Q. No. EXPECTED ANSWER / VALUE POINTS Marks 

1. (a) If the Gross Domestic Product at current prices is ₹ 6,600 crore and 

GDP deflator is 110, calculate the Real Gross Domestic Product. 

(a) Given; 

 GDP at current prices (Nominal GDP) = ₹ 6,600 crore 

    GDP deflator = 110 

   Real GDP   = 
Nomial GDP

100
GDP deflator

  

     
6,600

100
110

   

     = ₹ 6,000 crore 

 

 

 

 

 

1 

 

½ 

 

½ 

  2 

 OR 

(b) Giving valid reasons, classify the following into stock and flow 

variables: 

(i) Value of inventories as on 31st March, 2021 

(ii) Net Investments during the year 2020-21 

(b) (i) Value of inventory as on 31st March, 2021 is a stock variable, as it is 

measured at a particular point of time. 

 (ii) Net Investments during the year 2020-21 is a flow variable, as it is 

measured over a period of time. 

 

 

 

 

 

1 

1 

  2 

2. a) If planned savings exceed planned investments in an economy, state its 

likely impact on output and employment.  

When planned savings exceeds planned investments it means households are 

planning to consume less than what the firms expected. As a result, planned 

inventory would rise above the desired level. To manage the inventories at the 

desired level, producers may contract production, reducing the employment 

and income level.          (to be marked as whole) 

OR 

b) If planned savings fall short of planned investments in an economy, 

state its likely impact on output and employment.  

When planned savings are less than the planned investments it means 

households are planning to consume more than what the firms expected. As a 

result, planned inventory would fall below the desired level. To bring back the 

 

 

2 

 

 

 

 

 

 

2 
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inventories at the desired level, producers may expand production raising the 

level of employment and output.              

(to be marked as whole)                                                                                                                                                                           

 

3. “Economic development in India has been accompanied by 

environmental concerns.”  

Do you agree with the given statement? Give valid reasons in support of 

your answer. 

 The pressure on natural resources is increasing along with deforestation 

and wildlife extinction. 

 Rapidly rising Industrial sector is leading to air pollution, water 

contamination, soil erosion etc. 

 

(any other relevant point/reason/argument should be awarded marks 

accordingly) 

1 

 

1 

 

 

4.  a) You are given the consumption function of an imaginary economy,  

C = 100 + 0.8Y, where C = Consumption and Y = Income. 

Calculate: 

(i) The value of Marginal Propensity to Save (MPS)  

(ii) The level of income at Break-Even Point 

(i) Given,      C = 100 + 0·8Y 

We know that,      MPC + MPS = 1 

                                  MPS = 1 – MPC    

      MPS = 1 – 0·8 = 0.2 

(ii) As we know, at break-even point; Y = C 

                                    Y = 100 + 0.8Y 

                                     0.2 Y = 100 Y= ₹ 500 

 

                                                                  

                                                        

       OR 

b) S = -60 + 0.1 Y is the saving function, where S is Saving and Y is 

National Income and Investment Expenditure (I) is ₹ 4,000 crore in an 

economy. 

Calculate the Equilibrium level of Income. 

(b) Given,  S = –60 + 0·1Y 

   I = ₹ 4,000 crores 

 We know that, at equilibrium;  S = I 

   60 0·1 4,000Y    

               0 · 1 𝑌 = 4,060 

   
4,060

0·1
Y    ₹ 40,600 crores 

 

 

 

 

 

½ 

 

½ 

 
½ 

½ 

 2 

 

 

 

 

 

 

½ 
 

½ 
 

½ 
 

½ 

  2 

5. State the meaning of the following: 

(i) Global burden of disease 

(ii) Mortality Rate 
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(i) Global Burden of Disease (GBD) is an indicator of the number of people 

dying prematurely due to a particular disease, as well as the number of years 

spent by them in a state of ‘disability’ owing to the disease. 

(ii) Mortality Rate is defined as the number of deaths per thousand people in a 

year.  

 

1 

 

1 

 

  2 

6. “In the late 1970s China’s population growth rate had sharply declined as 

compared to India.” Elucidate the reason and impact of this situation. 
A sharp decline in population growth rate in China as compared to India in late 

1970’s was mainly due to implementation of ‘one child policy’. As a result, 

China has witnessed a decline in the growth rate of population.  

Consequently, the proportion of elderly people has risen in comparison to 

younger ones.  

(any other relevant point/reason/argument should be awarded marks accordingly)          (to be marked as a 

whole)                                                 

 

 

 

3 

 

7. Explain the concept of ‘Dual Pricing’ adopted by China. 

Dual pricing means fixing the prices in two ways, i.e., farmers and industrial 

units were required to buy and sell fixed quantities of inputs and outputs on the 

basis of prices fixed by the government all rest were purchase and sell at market 

prices. 

(to be marked as a whole) 

3 

 

 

8. a) Briefly explain the different phases of circular flow of income. 

Three phases of circular flow of Income: 

 Firms hire factor services from the households (owner of factor services). 

 Households receive factor income for rendering their services to the 

firms.  

 Households spend factor income earned on purchase of final goods and 

services produced by firms, thereby completing the circular flow. 

 

 

1 

1 

1 

  

OR 

3 

 

 

 

 

 

1 

 

1 

 

½  

 

½  

 b) In an economy, if the Real Gross Domestic Product (GDP) is ₹ 300 crore 

and Price Index (with base = 100) is 110, calculate the Nominal Gross 

Domestic Product. 

Real GDP 
Nominal GDP

100
Price Index

   

 
Nominal GDP

300 100
110

   

𝑁𝑜𝑚𝑖𝑛𝑎𝑙 𝐺𝐷𝑃 =
300

100
× 110 

 

            Nominal GDP = ₹ 330 crores 

  3 
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9. Discuss briefly the working process of investment multiplier (K), 

assuming that Change in Investment ( I ) is ₹ 4,000 crore and Marginal 

Propensity to Consume (MPC) is 0.5. 

The working of multiplier is based on the fact ‘one’s expenditure is other’s 

income’.  

Given, the increase in investment is ₹ 4,000 crores and Marginal Propensity to 

Consume is 0·5: 

Rounds I  Y  C  S  

1 

2 

3 

— 

4000 4000 

2000 

1000 

__ 

2000 

1000 

500 

__ 

2000 

1000 

500 

__ 

Total 4000 8000 4000 4000 

The above table shows that an increase in investment of ₹ 4,000 crores leads to 

a total increase of ₹ 8,000 crores 

(any alternative presentation/explanation should also be awarded marks) 

Working Note:             (marks not to be deducted if working note is not 

given)  

𝐾 =  
1

1−𝑀𝑃𝐶
 = 

1

1−0.5
 = 

1

0.5
 = 2 

𝐾 =  
𝛥𝑌

𝛥𝐼
  

2 = 
𝛥𝑌

4,000
  

𝛥𝑌 = ₹ 8,000 𝑐𝑟𝑜𝑟𝑒 

 

 

 

½ 

 

 

 

 

 

 

1½ 

 

 

 

 

    1 

  3 

10. ‘Out of 30 million formal sector workers, only about 21% are women 

found in regular salaried employment.” Elucidate 

Out of 30 million formal sector workers in India, only about 21% are women 

found in regular salaried employment because of following reasons: 

(i) Lack of mobility among women due to social constraints. 

(ii) Regular salaried employment requires job skills. 

(iii) Low level of education amongst women. 

   (any other relevant point/reason/argument should be awarded marks 

accordingly)                                                                       (to be marked as a whole) 

 

 

 

    

 

3 

11. a) From the following data, show that the National Income will be same 

from both Income Method and Expenditure Method: 

S. 

No. 

Items Amount  

(in ₹ crore) 

(i) Net Exports (-) 60 
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(ii) Net Indirect Taxes 150 

(iii) Operating Surplus 740 

(iv) Compensation of Employees 1,400 

(v) Net Factor Income from Abroad 40 

(vi) Mixed Income of Self- Employed 1,000 

(vii) Net Domestic Fixed Capital Formation 500 

(viii) Change in Stock (-) 100 

(ix) Depreciation 100 

(x) Private Final Consumption Expenditure 2,000 

(xi) Government Final Consumption 

Expenditure 

1,000 

Income Method 

         NNPFC = (iv) + (iii) + (vi) + (v) 

       = 1,400 + 740 + 1,000 +40 

       = ₹ 3,180 crores 

 

Expenditure Method 

 (ii) NNPFC = (x) + (xi) + [(vii + viii)] + (i) + (v) – (ii) 

       = 2,000 + 1,000 + [500 + (–100)] + (–60) + 40 – 150 

       = ₹ 3,230 crores 

 (MARKS ARE TO BE AWARDED EVEN IF THE VALUES OF NATIONAL INCOME 

ARE DIFFERENT) 

OR 

b) (i) Calculate the operating surplus from the following data: 

S.No. Items Amount 

(in ₹ Crore) 

(i) Compensation of Employees 300 

(ii) Indirect Taxes 200 

(iii) Consumption of Fixed Capital  100 

(iv) Subsidies 50 

(v) Gross Domestic Product at Factor Cost (GDPfc) 650 

       (i) Operating surplus = (v) – (iii) – (i) 

              = 650 -100-300 

  Operating surplus = ₹ 250 crore 

(ii) State and discuss briefly the three main components of Net Factor        .               

Income from Abroad  

(ii) Components of net factor income from abroad are as follows: 

 Net compensation of employees 

 Net Income from property and entrepreneurship 

 Net retained earnings                             (with valid explanations) 

 

 

 

 

 

 

 

 

 

1½ 

1 

½ 

 

 

1 

1 

5 

 

 

 

 

 

 

 

1 

½  

½  

 

 

 

 

1 

1 

1 

  5 
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12. Explain the concept of excess demand. How can government spending 

policy be helpful in correcting the situation of excess demand? 

 

Excess demand refers to a situation when aggregate demand exceeds aggregate 

supply corresponding to full employment level of output in an economy. 

To correct excess demand, government should reduce its spending. It leads to 

fall in the income in the hands of public and consequently the purchasing power 

reduces. Thus, it will help to correct the situation of excess demand. 

(to be marked as a whole) 

 

 

 

2 

 

3 

13. Case/ Source Based Question 

Read the following text carefully. Answer questions number 13 (a) and 13 

(b) on the basis of the given text and common understanding: 

The NITI Aayog Index developed in collaboration with German 

cooperation, ranks 56 urban areas on 77 Sustainable Development Goals 

(SDGs) indicators. In its journey of localization of the Sustainable 

Development Goals (SDGs) and creating SDG’s progress monitoring 

system at all levels, the NITI Aayog has developed the SDG Urban Index 

and Dashboard in 2021-22. 

The index will strengthen SDG localisation and institute monitoring at the 

various cities level. According to the NITI Aayog, this index highlights the 

strengths and gaps of data monitoring and reporting systems. The tools 

used in the index will contribute to the creation of an ecological system in 

which all stakeholders will be equipped to adopt and implement data-

driven decision-making. 

The NITI Aayog is of the view that this transformative change is quite 

essential, given the increasing prominence of our cities and urban areas in 

charting the future of development in India. Out of 56 urban areas ranked 

in the index, 44 are with population above one million. 

As per the NITI Aayog, for each SDG the urban areas are ranked on the 

scale of 0-100. A score of 100 implies that the urban area has achieved the 

targets set for 2030. A zero score implies that it is the farthest from 

achieving the target among the selected urban areas. The areas with score 

between 0 and 49 have been ranked as aspirants, those with 50-64 are 

termed as performers, 66-99 are called front runners and the ones with 

perfect score are called achievers.         Source: The Economic Times; 

November 3, 2021 (Modified) 

(a) Outline any two steps involved by the NITI Aayog index in 

attaining sustainable development. 

(b) “Urban areas are ranked on the scale of 0-100.”  

Elucidate the ranking system adopted by NITI Aayog 

(a) Two steps involved in NITI Aayog index are as follows: 

 (i) Localisation of Sustainable Development  

 (ii) monitoring progress in Sustainable Developmental Goals at all 

possible levels 

b) Urban areas are ranked on the scale of 0-100. Ranking system adopted by 

NITI Aayog is as follows 

(i) The areas with ranking between 0–49 have been ranked, as aspirants. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

1 

 

 

1 
 

1 
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(ii) Those with 50–64 are termed as performers, 66–99 are called front 

runners. 

(iii) Score of 100 implies the urban area has achieved the target set for 

2030. 

(any other relevant point/reason/argument should be awarded marks 

accordingly) 

1 

 

  5 

* * * 

 

www.studentbro.inwww.studentbro.inwww.studentbro.in


	23. Economics Question Paper 2022 Code 58-4-3.pdf (p.1-11)
	24. Economics Solution 2022 Code 58-4-3.pdf (p.12-20)

